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loc
DQ2. ( )

1 156 15.6 15.6
/7 2 163 16.3 16.3
/ 3 134 13.4 13.4
/7 4 201 20.1 20.1
/ 5 142 14.2 14.2
/ 6 164 16.4 16.4
7 40 4.0 4.0
1,000 100.0 100.0

sort

DQs3. « )

1 420 42.0 42.0
2 295 29.5 29.5
/ 3 95 9.5 9.5
4 190 19.0 19.0
1,000 100.0 100.0

no2
1988 1988 5 0.5 0.5
1990 1990 1 0.1 0.1
1995 1995 161 16.1 16.1
1996 1996 10 1.0 1.0
1997 1997 12 1.2 1.2
1998 1998 225 22,5 225
1999 1999 54 5.4 5.4
2000 2000 124 12.4 12.4
2001 2001 70 7.0 7.0
2002 2002 41 4.1 4.1
2003 2003 2 0.2 0.2
9998 215 21.5 21.5
/ 9999 80 8.0 8.0
1,000 100.0 100.0
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02

0202 _
2. 2
2)
1 18 1.8 1.8
2 73 7.3 7.3
3 118 11.8 11.8
4 4 0.4 0.4
5 1 0.1 0.1
/ 8 1 0.1 0.1
9 785 78.5 78.5
1,000 100.0 100.0
0203 _
2. 2
3)
1 75 7.5 7.5
2 384 38.4 38.4
3 453 45.3 453
4 12 1.2 1.2
/ 8 3 0.3 0.3
9 73 7.3 7.3
1,000 100.0 100.0
0204 _
2. ?
4)
1 26 2.6 2.6
2 103 10.3 10.3
3 138 13.8 13.8
4 2 0.2 0.2
/ 8 5 0.5 0.5
9 726 72.6 72.6
1,000 100.0 100.0
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1 10 1.0 1.0
2 42 4.2 4.2
3 89 8.9 8.9
4 3 0.3 0.3
9 856 85.6 85.6
1,000 100.0 100.0
q0206 -
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1 19 1.9 1.9
2 120 12.0 12.0
3 245 24.5 24.5
4 3 0.3 0.3
/ 8 6 0.6 0.6
9 607 60.7 60.7
1,000 100.0 100.0
q0311 : ( / ) %
3. ?
11) : /
0% 0 309 30.9 30.9
5% 5 11 11 1.1
10% 10 115 11.5 115
15% 15 6 0.6 0.6
20% 20 161 16.1 16.1
25% 25 14 1.4 1.4
30% 30 165 16.5 16.5
35% 35 1 0.1 0.1
40% 40 50 5.0 5.0
45% 45 1 0.1 0.1
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0% 0 295 29.5 29.5
1% 1 2 0.2 0.2
2% 2 1 0.1 0.1
3% 3 1 0.1 0.1
5% 5 22 2.2 2.2
10% 10 142 14.2 14.2
15% 15 8 0.8 0.8
20% 20 139 13.9 13.9
25% 25 14 1.4 1.4
30% 30 135 13.5 13.5
40% 40 55 5.5 55
45% 45 2 0.2 0.2
50% 50 109 10.9 10.9
60% 60 20 2.0 2.0
70% 70 8 0.8 0.8
80% 80 20 2.0 2.0
90% 90 7 0.7 0.7
100% 100 20 2.0 2.0
1,000 100.0 100.0
g0315 : ( ) %
3. ?
14)
0% 0 610 61.0 61.0
5% 5 14 14 1.4
10% 10 184 18.4 18.4
15% 15 12 1.2 1.2
20% 20 81 8.1 8.1
25% 25 7 0.7 0.7
30% 30 31 3.1 3.1
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0322 : ( )%
3. ?
2.2)
0% 0 484 48.4 48.4
5% 5 7 0.7 0.7
10% 10 41 4.1 4.1
15% 15 3 0.3 0.3
20% 20 106 10.6 10.6
25% 25 3 0.3 0.3
30% 30 121 12.1 12.1
40% 40 74 7.4 7.4
50% 50 92 9.2 9.2
60% 60 22 2.2 2.2
70% 70 12 1.2 1.2
80% 80 19 1.9 1.9
90% 90 3 0.3 0.3
100% 100 13 1.3 1.3
1,000 100.0 100.0
0323 : ( ) %
3. ?
2. 3)
0% 0 262 26.2 26.2
5% 5 6 0.6 0.6
10% 10 55 55 55
15% 15 5 0.5 0.5
20% 20 124 12.4 12.4
25% 25 6 0.6 0.6
30% 30 140 14.0 14.0
35% 35 2 0.2 0.2
40% 40 83 8.3 83
47% 47 1 0.1 0.1
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0% 0 711 71.1 71.1
5% 5 23 2.3 2.3
10% 10 157 15.7 15.7
15% 15 10 1.0 1.0
20% 20 50 5.0 5.0
25% 25 1 0.1 0.1
30% 30 23 2.3 2.3
40% 40 3 0.3 0.3
50% 50 6 0.6 0.6
80% 80 4 0.4 0.4
100% 100 12 1.2 1.2
1,000 100.0 100.0
qo4
4, ?
1 58 5.8 5.8
2 308 30.8 30.8
3 506 50.6 50.6
4 66 6.6 6.6
5 57 57 57
/ 9 5 0.5 0.5
1,000 100.0 100.0
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q041 (1 )
4-1. . ?
1 22 2.2 6.0
2 7 0.7 1.9
3 130 13.0 355
/ 4 110 11.0 30.1
/ 5 8 0.8 2.2
6 79 7.9 21.6
8 7 0.7 1.9
/ 9 3 0.3 0.8
0 634 63.4
1,000 100.0 100.0
q042 (2 )
1 15 15 4.7
2 14 1.4 4.4
3 97 9.7 30.2
/ 4 61 6.1 19.0
/ 5 19 1.9 59
6 115 11.5 35.8
0 679 67.9
1,000 100.0 100.0
g05 01~02
5. 2001 2002 ?
?
1 135 13.5 13.5
2 865 86.5 86.5
1,000 100.0 100.0
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ql197 -
19.
7
701 169 16.9 16.9
702 1 0.1 0.1
703 1 0.1 0.1
704 19 1.9 1.9
705 1 0.1 0.1
706 8 0.8 0.8
707 1 0.1 0.1
709 2 0.2 0.2
710 1 0.1 0.1
711 1 0.1 0.1
712 1 0.1 0.1
713 1 0.1 0.1
714 4 0.4 0.4
998 790 79.0 79.0
1,000 100.0 100.0
198 -
19.
8)
802 2 0.2 0.2
803 18 1.8 1.8
804 4 0.4 0.4
805 31 3.1 3.1
806 8 0.8 0.8
807 2 0.2 0.2
808 4 0.4 0.4
809 7 0.7 0.7
810 2 0.2 0.2
811 6 0.6 0.6
812 4 0.4 0.4
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